Light curve algorithm

A numerical experiment



Next 6 slides:

Case with 10 sources + background in 100 time steps of 20 seconds

All sources are constant except the background that slowly rises by a factor 1.5
Red curves represent the basic single source approach by NL

Black curves represent the least square solution

Shadowgram with 2366 counts from

2007 the last time step.
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Next 6 slides:
Case with 10 sources + background in 100 time steps of 20 seconds
Source 1 is flaring, all other sources are constant except

the background that slowly rises by a factor 1.5

Red curves represent the basic single source approach by NL

Black curves represent the least square solution
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Shadowgram with 2366 counts from
the last time step.



NSI/DTU/2009-11-23/NJW

20

0.5

LA L L O L N L B B B

LI L L L L L L L L [
]

[ Src 2

00 ECNts/bin 225.1 0.0 LCNts/bin 267.3 i
) Lot vt b v v v v | ’ Lottt by v |
0 50 100 0 50 100
(T T T T (l:. LI B L LI B B RN [T T T T c|‘ LI L I I B B

- o —

[ %l o, '

o L I N

. + o To _

|t ; d: E g

ol P T

B N — *y ci i __

'Src 3 190 Sre# ° _

00 LCnts/bin 449.3 _| [Cnts/bin 65.7 . ]
’ IR TN NN NN NN AU A SO N T B O B I Lot vttt bt vl

0 50 100 0 50 100



NSI/DTU/2009-11-23/NJW

[ L L L LI | L O L L LA LI L L LI L L L L L L
oo F Al Foa o ! | ]
— + = = o
-4 ] + L _
0.15 _' : %"' o 1 B * 4 ]
ALl e o102 l cj o L1
- | o+ © +qj' T - - +H L ]
0.10 FE T TS =1 Lot \l 1,
- of LTp| I% - +1 [ e
A b, D_H_ + ) + . - +T o0
| ol g | 9 * + 7] + *tq,
0.05 o N U B SRR (L) o U I S
— o LT ot ] - ot
K o o © + o . o
FSIC . o L1t rc,6 e 5
000 -Cnts/bin{112.6 o - +Cnts/bihi23.8 . -
Clooabe v e b ey 17 Lo v b v b v |
0 50 100 0 50 100
L A AL LN L L N B L B ') I L L L L L L L O
03 ° -]
- +°+ .
021 . B
Cllas e £ i
| +,0 o_p Yo |
—— —I ]
0.1_‘" I+U‘ o
RSy YN }
0.0 —
- | o,
-Src 7 ° | Src

| |

Cnts/bin 70.Q

Lottt b b o a1y

Cnts

Lot v vt v b v |

0 50 100 0 50 100



NSI/DTU/2009-11-23/NJW

L LA LA L L L L L B L B ') I I L L L I L I L L =
- o -
- o - —
03 ] .
B + T -
- o 1 + -
L% 3 i i
H
02 _ + oc = ]
— & OP L4 4 — y _
| C+-:> ] o4 & [+1F4H +
- w4 g 0 — I
" T+ o [+ ¢ G105 d+ © ol °&% + _|
B T Al [ e N [] ] H++0
N g a3 gk e F o il el i ]
— +-: 14 it +pf + 4
- a +| o4 - + .
°l, °l | k +o d F| |s0 o |
~ o gwf § Pd -
0.0 rc ® 96 + T n
L o 4 o - .
Q 00 — o o + —
"Cnts/bini35 o JooHCnts/bin f13.0 =+ ~
= IR ORI [ | A | Y [ B B = Cloc e e by 1A

0 50 100 0 50 100

0_4_||||]|]||1|1||]|11+|1|_
o

0.0 "Cnts/bin 588.6

Lo vv vttt bt a1 |l

0 50 100



T T T [ T T T T [ T T T T [T T TH T [ T~ T T [ " T T ] 71

- RMSr: 0.15 Src 1 1 FRMSr: 0.10 Src?2 .
20 CRMSr: 0.18 Cnts/bin 225.1] [ RMSr: 0.15 Cnts/bin 267.3"

—0.1 0.0 0.1 -0.2 0.0 0.2

[T T T T [T T T T [T T T T[T T 1T ] L L
| RMSr: 0.12 Src 3 1 FRMSr: 0.52 Src4

_BRMSr: 0.13 Cnts/bin 449.3._ :F{MSr: 0.71 Cnts/bin 55.7

el b 1

[ I M
-0.2 -0.1 0.0 0.1 0.2 -0.2

0.2



_|_ T T | T T | T T | T T _|_ r | LI I | T T | LI | LI | _
-RMSr: 0.16 Src5 1 £ RMSr: 0.11 Src6 .

20 ;F{MSr: 0.20 Cnts/bin 112.6; 20 :_F{MSr: 0.19 Cnts/bin 23.8 N
15 H1s5F N
10 H10F N
sk 4; 1sF fLL :
0% L1k I|—||_|| | L1 1 11 % 0 - | ] ) 1 |4|_II—I.I_L I :
_sz I I_O'll T 00 T |0'll I {)I.2 |_(|}£|1| T |_|0i2| T |0i0| . |{|)2| T |0';4|
: RMSr: 0.12 Src7 E - RMSr: 0.47 Src8 1
20 }F{MSr: 0.16 Cnts/bin 70.0 E | RMSr: 0.61 Cnts/bin 111.9]
- 120k §
L 1 r B
ob 1L |
: Jop .
0:-|I_||._|| III_L I|:UT|I [ ||||IITHTI|I|_|

-0.2 0.0 0.2 -0.2 -0.1 0.0 0.1 0.2



20

20

T 1 * I 1 1 T 1 ' 1 [T T T T T [ T T T T[T T T T ]TTT1T 4
- RMSr: 0.24 Src9 4 FRMSr: 0.07 Src10 .
:F{MSr: 0.34 Cnts/bin 35.7 20 :_F{MSr: 0.09 Cnts/bin 113.0{
I s 1 r -
B JiE .
: e T % 5
._ L L V Ll Il_l ] _. 0:l ann L1 Lo Tl |l__

-0.2 0.0 0.2 -0.2 -0.1 0.0 0.1 0.2

T T [ T T T [ T T T T [ T T

| RMSr: 0.05 Src 11 |
_ RMSr: 0.03 Cnts/bin 588.6._

i

-0.05 0.00 0.05



	Light curve algorithm
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6
	Slide Number 7
	Slide Number 8
	Slide Number 9
	Slide Number 10
	Slide Number 11
	Slide Number 12
	Slide Number 13
	Slide Number 14
	Slide Number 15
	Slide Number 16

